Genomes with the phenotype of interest (i.e. effective nl)

multi-animal mono- and multi-

mono-animal

sources animal sources

sources

- log,,(observed p-value)

- log,o(observed p-value)

- log,o(observed p-value)

49

36

23

10

71

52

33

14

64

47

30

13

nl =120 versus 5 nl = 120 versus e
n2 = 180 g n2 = 140
&
3T 3
c
[}
(%]
Qo
o)
S 1
(o]
S
1 3 5 1 3
- logyp(expected p-value) - log,o(expected p-value)
nl = 60 versus @ 5 nl = 60 versus
n2 = 240 = n2 = 140
> —re s s
g 3
2
(]
(%)
o)
A=)
=] 1
o) ,
- Q ) e
1 3 5 1 3
- log,g(expected p-value) - log,o(expected p-value)
nl =60 versus S nl = 60 versus
n2 =180 g n2 =200
o
©
(]
c
()
(%)
o]
)
>
k)

- log,p(expected p-value)
mono-animal
sources

- log,o(expected p-value)

multi-animal
sources

- log,o(observed p-value)

- log,o(observed p-value)

- log;p(observed p-value)

117

86

55

24

nl = 120 versus
n2 =320

1 3
- log,q(expected p-value)

nl = 60 versus
n2 = 380

1 3
- log,o(expected p-value)

nl = 60 versus
n2 = 380

- log,p(expected p-value)

mono- and multi-
animal sources

Genomes without the phenotype of interest (i.e. effective n2)

v



Genomes with the phenotype of interest (i.e. effective nl)

multi-animal mono- and multi-

mono-animal

sources animal sources

sources

- log,,(observed p-value)

- log,o(observed p-value)

- log,o(observed p-value)

49

36

23

10

71

52

33

14

64

47

30

13

nl = 120 versus
n2 =180

- log,o(expected p-value)

nl = 60 versus
n2 = 240

- log,(expected p-value)

nl = 60 versus .
n2 = 180

- log,p(expected p-value)
mono-animal
sources

- log,,(observed p-value) - log,p(observed p-value)

- log,o(observed p-value)

nl=120versus —
n2 = 140

1 3
- log,o(expected p-value)

nl = 60 versus .
n2 =140 i

1 3
- log,o(expected p-value)

nl = 60 versus
n2 =200

- log,o(expected p-value)

multi-animal
sources

- log,o(observed p-value) - log,,(observed p-value)

- log,,(observed p-value)

15

11

22

16

10

117

86

55

24

nl =120 versus
n2 =320

1 3
- log,q(expected p-value)

nl = 60 versus
n2 = 380

1 3
- log,o(expected p-value)

nl = 60 versus
n2 = 380

- log,p(expected p-value)

mono- and multi-
animal sources

Genomes without the phenotype of interest (i.e. effective n2)

v



Genomes with the phenotype of interest (i.e. effective nl)

multi-animal mono- and multi-

mono-animal

sources animal sources

sources

- log,,(observed p-value)

- log,o(observed p-value)

- log,o(observed p-value)

44

28

12

71

52

33

14

60

44

28

12

T 26
nl = 120 versus =
n2 = 180 g
o 19
©
]
S
o 12
Qo
o
e
S 5
oS

- log,o(expected p-value)

nl = 60 versus
n2 = 240

- log;p(observed p-value)
w

- log,(expected p-value)

nl =60 versus . E
n2 = 180 _ g 4l
- a
T 30
e
&
8 19
o
=
(@]
g 8

- log,p(expected p-value)
mono-animal
sources

nl = 120 versus
n2 = 140

1 3
- log,o(expected p-value)

nl = 60 versus
n2 = 140

1 3
- log,o(expected p-value)

nl =60 versyus .~
n2 = 200

- log,o(expected p-value)

multi-animal
sources

- log,o(observed p-value)

- log,o(observed p-value)

- log;p(observed p-value)

15

11

22

16

10

94

69

44

19

nl = 120 versus
n2 =320

1 3
- log,q(expected p-value)

nl = 60 versus
n2 = 380

1 3
- log,o(expected p-value)

nl = 60 versus —
n2 = 380 =

- log,p(expected p-value)

mono- and multi-
animal sources

Genomes without the phenotype of interest (i.e. effective n2)

v



~—~~
A = g
:$(—568
8 >
EL o
so 8 %
%m e
R R
QO
cE =&
— o
o < S 14
(@)
£T© 5
~~~ 1
-
c
)
=
=
O
=
~~
o 5
gl e, 2
N—’ O o
— -—G)_O
0 C O ot
(] © = S
5| £33 5
Q =Z=o 9
< 5 0N Q
- = N
o S
o g
> 1
2
)
c
o
<
Q ~~
2 E
= T S 56
e E 1
= n o
=98 3
= S5 3 4
a =
(@] [}
£ cQ & 2
(@] (@) o
S S E
O} g U

nl = 80 versus - S 13 nl = 80 versus ?g‘
n2 =180 g n2 = 180 = 28
o 3
> o
i 3 ¥ - 160
S g
q) S
a 62 102
o o]
3 )
o 27 S 44
o (@]
— m T R ks
1 3 5 1 3 5
- logy(expected p-value) - log,o(expected p-value)
nl = 20 versus ’a':a: nl = 20 versus o)
n2 =240 3 % n2=180 =2 s
< >
o
5 = 160
> >
Q48 o 102
@ I}
) )
mi’. 21 S 44
S ___— g
1 3 5
- log,o(expected p-value) - log,o(expected p-value)
nl =60 versus —_ g nl =60 versus @
n2 = 180 — S 56 n2=200 . < 113
- s — a
. o 41 o
qé) -‘, g 83
Q : ]
2 2 s ]
o C)
3 3
T g u — g 23
1 3 5 1 3 5
- log,p(expected p-value) - log,o(expected p-value)
mono-animal multi-animal
sources sources

nl = 80 versus
n2 = 360

1 3
- log,q(expected p-value)

nl = 20 versus
n2 =420

1 3
- log,o(expected p-value)

nl = 60 versus
n2 = 380

- log,p(expected p-value)

mono- and multi-
animal sources

Genomes without the phenotype of interest (i.e. effective n2)

v



